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2023-01-03 |&l&l ZtEts| 7z & FAMX = 8 160,000
2023-01-03 | &A! Ltz SCHS ciof = - 193,550
2023-01-05 |22l Ztets| JH% & FhY = 5 115,000
2023-01-06 |Al 7 A D(AFMH AL = 10 240,000
2023-01-09 [ EF =2 Al FEIS| 9 = 5 103,000
2023-01-09 |Z47(Y &l 3 AMME = 6 16,800
2023-01-10 |&l & ZtEFS] JHZ| Al EHY = 4 84,000
2023-01-10 |AOFE mM=&HAl 7|&7l gt AKX AR = 6 156,000
2023-01-11 | XtMIC] M X| At 35) XMl = 8 215,000
2023-01-11 |22l Ztets| JHE| Al EHY It= 8 30,800
2023-01-12 |SMHI-T 3 AHZ 3o MK} Ciul M= = 14 68,100
2023-01-12 [O|AMMX| 2= FHxXId It= 5 70,000
2023-01-12 |MEA|Z &M 35} 2 F o = 10 24,080
2023-01-13 |MSAIE stdsl 2 F[of = 8 123,600
2023-01-16 | A ¥ &l || EAM X} ciuf 7tE 5 22,400
2023-01-17 [MSA|Z aH| 2MSIE 2[5t 2 It= - 600,000
2023-01-17 |X G A 2 AlH ZLSIE 2 = 5 87,000
2023-01-17 (20234 A gto| X{ct 2HA = 16 800,000
2023-01-17 [20234 A gdEglo| =1 = 5 141,000
2023-01-18 |st=st-Eof ZH| XA F = 8 180,000
2023-01-18 |Z47| AKX gl MH3] Tz = 8 213,000
2023-01-19 |2 Y3 Ast ZstE ¢t = 7tE 4 84,000
2023-01-20 |AAIY FZRS 28 HEXHA L 7t= 4 84,000
2023-01-25 |MEt 2 2 AR AT 7t= 4 84,000
2023-01-26 [MEt Aol xo|g XMt 7| Et 1 50,000
2023-01-26 |G 2H S 2|5t O|ALRl 2F ZIEHS] AL M= 7t= 6 133,000
2023-01-26 [ADIE TH I X AL 2 ° & = 6 170,000
2023-01-27 |MEZ2Al ST X FESE A A = 5 100,000
2023-01-27 |SAMZE 7X@ Al FR =hE o & = 8 200,000
2023-01-29 [Xict =l Z=x3HH| X e 1 49,000
2023-01-30 [t Aol xo|g XMt 7| Et 1 50,000
2023-01-30 |AIALY FZXZS 2| AKX} = 4 90,000
2023-01-31 |MEt 2 =3 AKX & = 3 60,000




